Date

EXHIBIT "A"



Signature

Contract Quantity Adjustment/Change Order

rev, 01/16								
Department: Utilities and Enviro	omental Services							
Project Name: Cycle 3 Basin	s 4 & 5 Manhole Rehabilitation	Date: 7/25/24						
City Project ID Number MNH2	Ch	ange Order/Quantity Adjustment No.	Q 1.1					
Vendor Fuguay, Inc.	4861 Old Hwy 81, New Braunfel	s, Tx 78132	830-606-1882					
Company Name Justification	Address		Phone No.					
Additional three Manholes for rehablitation identifie	ed by City of Round Rock crews. Repairs include infilt infiltration with complete recoating of two manholes		m bench					
SUMMARY		Amount	% Change					
Original Contract Price:		\$410,640.40						
Previous Quantity Adjustment(s):		\$0.00						
This Quantity Adjustment:		\$55,504.00						
Total Quantity Adjustment(s):		\$55,504.00						
Total Contract Price with Quantity Adjustment(s):		\$466,144.40						
Previous Change Order(s):		\$0.00	0%					
This Change Order:		\$7,572.00	2%					
Total Change Order(s) To Date:		\$7,572.00	2%					
Adjusted Contract Price [Original Contract Price Plus Quantity Adjustment(s) Plus Change Order(s)]:		\$473,716.40						
Difference between Original and Adjusted Contract Price	es:	\$63,076.00						
Original Contract Time:		140 Days						
Time Adjustment by previous Quan. Adj./Change Order		0						
Time Adjustment by this Quan. Adj./Change Order:		0						
New Contract Time:		140 Days						
	Submitted for Approval							
Prepared By: Mark Lund Signature	Mark Hurd Project Man Printed Name, Title, Company		8-7-24 Date					
	Approvals							
Contractor augice ackson		AY, IAC 8	1/2/2024 Date 2-7-24					
Signature City Project	Printed Name, Title, Company		Date					
Manager: // out / lune	Mark HURD Project MANAGE	8	2-7-24					
Signature Mayor/City Manager	Printed Name, Title		Date					

Printed Name, Title



Contract Quantity Adjustment/Change Order

Project Name: Cycle 3 Basins 4 & 5 Manhole Rehabilitation

Quan. Adj./Change Order No.: Q 1.1

Item #	Item Description	Unit	Qty.	Unit Price	Amount	Contract Time Adjustment (Days)
	Remove and/or Abrade Existing Coatings					
	within Manhole or Structure	SQFT	631	\$12.00	\$7,572.00	0
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
				1	\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					DEBUT OF STREET STREET	



Contract Quantity Adjustment/Change Order

Project Name: Cycle 3 Basins 4 & 5 Manhole Rehabilitation

Quan. Adj./Change Order No.: Q 1.1

Bid Item #	Item Description	Unit	Qty.	Unit Price	Amount	Contract Time Adjustment (Days)	
	Condition Standards and Repair Methods -						
2	Condition 3	SQFT	999	\$41.00	\$40,959.00	0	
	Inflow & Infiltration Repair - Injection of						
3	Chemical Grout Material	GAL	12	\$245.00	\$2,940.00	0	
	Inflow & Infiltration Repair - Injection of				7-7-1-1-1		
	Chemical Grout Material - Labor &						
4	Equipment	HR	12	\$185.00	\$2,220.00	0	
	Manhole Bench and Invert Repair 4'						
5	Diameter Base	EA	2	\$600.00	\$1,200.00	0	
9	Set Up 6" Pump (Per Pump)	EA	3	\$995.00	\$2,985.00	0	
10	Set Up 6" Piping/Hose	LF	200	\$8.00	\$1,600.00	0	
11	Operate 6" Pumping System	DAY	3	\$1,200.00	\$3,600.00	0	
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
			-		\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
					\$0.00		
				TOTALC	學是多性學學主義發展	亚州州西州三市	
				TOTALS:	\$55,504.00	0	





4861 Old Hwy 81, New Braunfels, TX 78132

FUQUAY, INC.

Phone (830) 606-1882 Fax (830) 606-1885

MEMBER PRICING

PROPOSAL

LIST PRICING

DATE: July 23, 2024
PROJECT: City of Round Rock Cycle 3 Basin 4 & 5 MH Rehabilitation Additional Quantities

Cured In Place Pipe CIPP for Pipeline Rehabilitation #731-24

		SECTION II: UY CURED PRODUCT										
ITEM 3		Structure (Manhole) Rehabilitation and Corrosion Protection and Related Items		Original_	Additional	TOTAL						
Section I				Quantities	Quantifies	QUANTIES		#00.00	662 602 00	-\$1,61	\$21,39	\$59,335,8
Item 3 Section I	22101	Condition Standards and Repair Methods - Condition 1	SQFT	2774	9	2774		\$23,00		-\$1,61	\$50,22	\$163,215,0
Rem 3 Section I	22103	Condition Standards and Repair Methods - Condition 3	SQFT	3250	999	4249		\$54,00 \$321,00		-\$22.47	\$298,53	\$14,926,5
Rem 3 Section 1	22104	Inflow & Infiltration Repair - Injection of Chemical Grout Material	GAL.	50	13	62		\$244,00		-\$22,47	\$226.92	\$11,346,0
Item 3 Section I	22105	Inflow & Infiltration Repair - Injection of Chemical Grout Material-Labor & Equipment	HR	50	The state of the s	62		\$802,50		-\$56.18	\$746,33	\$38,062,5
item 3 lection (22106	Manhole Bench and Invert Repair 4' Diameter Base	EA	51		53	11			-\$0,02	\$0,28	\$96,743,2
ection 1	22120	Manhole Rehabilitation - Polyurethane (PCM) - Additional 1 mi) thickness	SQFT	346750	- 0	346750		\$0,30		-\$1.09	\$14.42	\$0.0
Rem 3 lection I	22121	Remove and/or Abrade Existing Coatings within Manhole or Structure	SQFT	0	631	631	-	\$15.50	\$0.00			
Item 3 Section I	22123	Provide and Install Internal Drop Assembly, up to 12"	EA	1	0	1		\$2,247.00	\$2,247.00	-\$157.29	\$2,089.71	\$2,089.7
tem 3	22135	Travel and Mobilization- Manhole Rehabilitation Crew from New Braunfels, TX	MILE	82	9	82		\$25.50	\$2,091.00	-\$1.79	\$23.72	\$1,944.6
EM 4		Bypass for Gravity Pipelines and Related Items							2-1			
lection I Item 4	23102	Set Up 6* Pump (Per Pump)	EA	8		11		\$2,568,00	\$20,544.00	-\$179.76	\$2,388,24	\$19,105.9
ection I Rem 4	23102	Set Up 6* Pring/Hose	LF	3200	290	3400		\$25.50	\$81,600.00	-\$1,79	\$23,72	\$75,888,0
ection I tem 4	23114	Operate 6" pumping System	DAY	8	E LINK LEV	11		\$3,852,00	\$30,816,00	-\$269,64	\$3,582,36	\$28,658,8
on I Rom 20	upplementa 38297	I items Traffic control	DAY	64	0	64		\$3,210,00		-\$224,70	\$2,985,30	
on I Rem 20	38300	Traffic Control Plan (3rd Party Certified)	EA	32	0	32		\$9,630,00	\$308,160.00	-\$674.10	\$8,955.90	\$286,588.80
WING AND SE	GUARANTEE PECIFICATION LTERATION O	ALL MANHOLES TO BE REHABLITATED, NO REMOVAL AND REPLACEMENT OF ANY NO EXTERNAL ORDO YILL BE STATLLED, AN INTERNAL DROP IS INCLUDED IN THE ADDITIONAL QUANTITIES ARE FOR MANHOLES: UID2158014, UID1438003, & UD1434-UD THE REAS SPREYURED, AND THE WIREK THE REFERENDED IN ANY VIREA ANCE WITH THE SEGURITURE OF THE ADDITIONAL AND COMPATION OF A SUBSTATUTAL WINGSHAMALL BEDWARD AND CONFIDENCE OF A SUBSTATUTAL CURRENT OF A SUBSTATUTAL CONTINUE OF A SUBSTATUTAL CURRENT OF A SUBSTATUTAL CONTINUE AND A SUBSTATUTAL CURRENT OF A SUBSTATUTAL CU	PROPOSAL 1334.	LUDED.								
ERE MAY BE A STED AS AN AB BOUNT CHARG CLUSIONS: BC PE W. SU SU	AN ADDITION DDITIONAL I GED TO FUQU	OFF	DEWATERIN ALL BYPASS		PIPE PLUGG	ING						
RMS:												
FMENT FOR SE REORMED, THIS	ERVICES SHAI S PROPOSAL I	LL BE DUE AND PAYABLE WITHIN THIRTY DAYS OF THE DATEMONTH THE WORK IS MAY BE WITHDRAWN BY US IF NOT ACCEPTED WITHIN THIRTY DAYS.	ACCEPTED B	Υ;								

PROJECT SPECIFIC
DISCOUNTED PRICING

\$18,00 \$133,250,00 \$174,209,00 \$41,00 \$12,250,00 \$15,190,00 \$245,00 \$9,250,00 \$11,470,00 \$185.00 \$30,600,00 \$31,800,00 \$600,00 \$69,350,00 \$69,350,00 \$0,20 \$0.00 \$7,572.00 \$1,740.00 \$1,740.00 \$12.00 \$1,740.00 \$1,148.00 \$1,148.00 \$7,960.00 \$10,945.00 \$25,600.00 \$27,200.00 \$9,600.00 \$13,200.00 \$995.00 \$8,00 \$1,200,00 \$500,00 \$16,000,00